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Solution

“#:] 2) (20 pts.) A flat ring of inner radius R; and outer radius R: (see the figure below)
carries a uniform surface charge density o

a) Find the electric potential along the axis (the x axis), assuming the electric potential at
infinity is zero.
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b) Find the magnitude and the direction of the electric field along the axis by using the
relationship between the electric potential and the electric field.
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Answer:

4) (15 pts.) Two resistors when connected in series to a battery with voltage Vi
use one-fourth the power that is used when they are connected in parallel. If one resistor
has resistance R;, what is the resistance of the other?
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